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M-35

All questions are compulsory.
T hHih 1 9 5 Toh ATTTISTIT U ¢ | Fdieh U9 W 1 3 e7eifed T |
TS 1 IW 7 IE AT 7 I | ST |

Question Nos. 1 to 5 are very short answer type questions. Each
question carries 1 mark. Answer should be given in / word or /
sentence.

T I 6 § 10 Teh Todeh T3 T 2 e eTefed B | (59 30 71
Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)

T ShHTR 11 | 22 T Tdsh T W 3 37k STeifed € | (Ie5-TH1 50 913
Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
T hlih 23 W 4 3ieh AEfed ¢ | (IR-H 70 T3

Question No. 23 carries 4 marks. (Word-limit 70 words)

¥ A 24 § 26 T Tk G W 5 I A@fed § | (IE-HE
700 %)

Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)
STET STaw B, 98] Tes d Awifhd fors o |

Draw clean and labelled diagram wherever necessary.
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U1

YIT-2

YIT-3

-4

U5

YIT-6

WIt-7

YIT-8

[2]
Aifaer srfergroo frd e € ?

What is called physical adsorption?

et sfuferan ot <HIfg

(i) LiAlH,
RCOOH >
(i) H,0

Complete the following reaction :

(i) LiAlH,
RCOOH — >
(i) H,0

CH,COCH, %1 TUPAC 7 31 € ?
What is the [IUPAC name of CH3COCH3?

I FEERee e —CHO HE I Sl 8, 39 &1 Fhed © ?
What is known by the carbohydrate which have —CHO group?

Tr=fafEa &1 FaeFe® & 9gd %A | fafa :
C,HOH, (CH,),NH, C,H,NH,

Write the following in increasing order of boiling point :
C,HOH, (CH,),NH, C,H,NH,

2.82 T TS (MU FeEE = 180) 30 UMW WA § Yol gom ¥
TeTehTST ST HIel JHTS! JTd iy |

2.82 gm of glucose (molecular mass = 180) is dissolved in 30 gm of
water. Calculate the mole fraction of glucose.

PCl a1 STl €, R NCl 7 | 5:f ?
PCly exists, but NClg does not. Why?

ST o Ufeehetehlol § THIA aHTd 994 Tgdiaeh e qaiaes THiA s
S Tkl ST Gehell § 2

How can you stop the formation of secondary and tertiary amine
during the preparation of amine by alkylation of ammonia?

[1]

2]

2]
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TIT-9

Y91-10

Te-11

YI1-12

YI1-13

WIT-14

[3]
I Sife i Afufshan 1 8 2 97 o fafaw | [2]

What is zero-order reaction? Write also the formula.

HIFSATH ehl THHT0 Ffgd THET | [2]

Explain carbylamine with equation.

TTRHR TeH IR WieR WH § @F | fafew ) [3]

Write three differences between Globular Protein and Fibrous Protein.

SO, foFd R & T a1 Hgeh € 2 [3]

How is SO, an air pollutant?

179 FHE o dwal o T 70T ki ==reA Fifse [1%+1%=3]
(37) SATFHTRTOT STaE

() FoeE

Explain the following properties of elements of 17th Group :

(a) Oxidation state

(b) Electronegativity

=1 Aifitent & IUPAC = fafam - [1+1+1=3]
(87) K [Fe(CN)]

() [Co(NH,),Cl,INO,

]2+

(@) [Zn(NH,),

Write the [IUPAC names of the following compounds :
(a) K, [Fe(CN)(]
(b) [Co(NH,),Cl,INO,

(©) [Zn(NH;),**
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WIT-15

YIT-16

g91-17

YI1-18

Y91-19

[4]
T3 1 F10 91 § 2 39 T ey T Shifs | [1+2=3]

What is Raoult’s law? Explain its mathematical expression.

frfeafed oei 1 Ty [3]
(37) TEARTEEA

(o) eSS

Explain the following terms :
(a) Cyanohydrin

(b) Hydrazone

fog wifSIT for gom hife sl stffshan o1 s18i-311g el SAfvehier
TRftse Figor R fsfR T e ¥ [3]

Prove that half-life period of first-order reaction is independent of

the initial concentration of reactant.

= W fewforat fafey [1Y5+1%=3]
(&7) SgawmuEEe (fast 781 S 7)

() JEAMVTH Ficiise

Write notes on the following :
(a) Electrophoresis (diagram is not required)

(b) Macromolecular colloid

fr etfierdenl 9 Uowhiglad &1 fwan gR1 wfooma goze o fa=q o1

TR Tl [3]
(&) SOCl, (&) PCl; (#) HCI

Write the equation of formation of alkyl halide from alcohol with the

following reagents :

(@) SOCL, (b) PCl, (c) HCI

M-35A



[S]

gy-20 Trefafea gl o TR Sl 3k FaeHih! o d6d §U A H oHafeed
e 3]
Y2A-1-37c, HA-1-311dd, FT-2-3ATed, Tared-1
Arrange the compounds of the following groups in the increasing
order of their boiling points :
Penten-1-ol, Butan-1-ol, Butan-2-ol, Propenol-1
yg-21  fefafaa sfuafsaneti § 4, B9 C &1 9g=na [1+1+1=3]
CH,CH,0H—21 4101 Lig{l?“ C
Identify 4, B and C in the following reactions :
CH,CH,0H—21 4101 Lig{l?“ c
Y9a-22 OHEARE s 3T, THifesd 3T i qorl B Yot B © | i ? [3]
Monochloroacetic acid is stronger than acetic acid. Why?
Y99-23 {7 Bl 9T [2+2=4]
(37) wigeht e
() Wehd fe
Explain the following :
(a) Schottky defect
(b) Frenkel defect
37ear
OR
=1 T THET ¢
(37) HeAh-oh{-5d A
(@) id:shi=d T
Explain the following :
(a) Face-centered cubic
(b) Body-centered cubic
M-35A P.T.O.



[6]
Y9A-24 RN B ], 99 (Fae T gHe fafaw) 2— [1+1+1+1+1=5]
(37) Freiforafers o7 i fRan Uehigial ¥ i STt ©
(¥) TwHifeeerEe & 3= S sem/HCI &t Suftafd & g g
(@) FeTEA, IS FARTES & A CS, i sufefa # foman wear &
() THifes 3t st foram Na &g & =t St ©
(3) THREH W NaOH iR I, & fohan &TE STt §

What happens when (write only chemical equation)?—

(a) Carboxylic acid reacts with alcohol

(b) The reduction of acetaldehyde occurs in the presence of zinc
amalgam/HCl

(¢) Toluene reacts with chromyl chloride in the presence of CS,

(d) Acetic acid reacts with Na metal

(e) NaOH and I, react with acetone
3ar

OR

71 o1 THET (Shadl T THIHT SifST) :

(37) TR fufsran

(F) Ucerd e

(g) Hfaemy srfufean

GRIECEEICE R ERI

(3) Whiea-shiRd stfufsha

Explain the following (write only chemical equation) :
(a) Stephen’s reaction

(b) Aldol condensation

(c) Cannizzaro reaction

(d) Gattermann-Koch reaction

(e) Friedel-Crafts reaction

M-35A



[7]
U9A-25  (37) TUATES 1§ 2 STRI Uk HAT T hicA § 2 THSMET |

() Fe™?aFe™ & gl foama faen gu st i SHi § 9 &
AR TR T | [2+3=5]
(a) What are Lanthanides? Why is it difficult to separate them? Explain.

(b) With the help of electronic configurations of Fe™? and Fe*?

explain which one is more paramagnetic.

sTar

OR

(37) Tepyul Id ol Fgd § 2 ST 9 Saai-eh fa=amg fafan |

(7) Cu' @R Cu™? % zeieifen fomame ferma g sEy fo 9 & 4
I AR AR T |

(a) What are Transition Elements? Write their general electronic

configuration.

(b) With the help of electronic configurations of Cu” and Cu™?

explain which one is more paramagnetic.
Ug-26  (37) HUS F foga-oTuse &1 yom g e g 2
(7) Tr=fafEd § 9 g o fou foga-sTaeed ¥ 9 Ie1e adEy

o

(i) Too eIt % |1 AgNO, 1 Sefl T

(if) wAfeT seraIEl % " H,S0,, 1 7 fererr [1+2+2=5]
(a) What is the Faraday’s first law of electrolysis?
(b) Predict the products of electrolysis in each of the following :

(!)  Anaqueous solution of AgNO, with silver electrodes

(i) A dilute solution of H,SO, with platinum electrodes

M-35A P.T.O.



[8]
arerar

OR

fora-TrEmafTe Joit a1 § 2 HIerIS 1 oM faed gu 39 <1 S
fafew)

What is Electrochemical Series? Write Kohlrausch law with its two

applications.

oooooooooo
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